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Problem 8-20

Find the values of all the quantities listed in the first column of Table 8-2 for a mirror reflection coefficient of 0.999.
Sol：

Spacing：d＝5 cm  input wavelength：[image: image2.png]
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Mirror Reflection Coefficient：r＝0.999
Coefficient of Finesse, F：[image: image6.png]
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Photon Lifetime, [image: image26.png]


 (s)：[image: image28.png]


 [image: image30.png]


 [image: image32.png]s _ -
3:10%x(1- 0.999%) 84 x10
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FSR(Variable Spacing)(nm)：[image: image50.png]
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FWHM(Variable Spacing)(nm)：[image: image56.png]5>
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FSR(Variable Frequency)(GHz)：[image: image62.png]e
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FWHM(Variable Frequency)(GHz)：[image: image68.png]
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